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Mo o® BHEXPE-—HES ®E &
i kg,/mx m=
RIK - HEKH kg./mx =
oMt (RUIWUMEH) kg,/mx m=
BAH= m k g/7&X =
BAH= m k g /7 X =
BAH= m k g/7&X =
BAH= m k g/7A&Xx =
BEAR k g/ #kX =
2= kg,/mx m=
Ty RTFYF kg./mx m=
a8 & kg

FER
B 5 kg + #xtmi& m

= BfumEs Y DaEES kg, /m

(&%) GHEE
7 g = M B A g =

BAL(ERO—L) 1,800kg/m |22 1)—k 2,300kg/m
HEEMALE7 /=541 ~3) |1,300ka/m [L A 2, 000kg/m
AIEST 700ka/m | AR*4 1, 100kg/m
gEJ1 07—k 1, 700kg/m [fR7K - HEZK#4 18kg/m
BIARUEAR) (ImLTF) 6ka/¥k |7 RFwF 50kg/m
BARGET2n-BEYE10cm) 40kg/ A |ZE 10kg/m
BAR(ET2.5m-B@YRA15em) | 120kg/A
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